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2n. if n>0
If f:Z—> N is definedby f(n)={ L if n=0 thenfis
—-2n-1, if n<0
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f:Z—->N Qoo f(n)=9 1, if n=0 QN
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Domain of Cos™ [fugj (x* +7x+15 ):l 13

Cos™ | log, (¥* +7x+15) | & DB#3w
Options :
The set of all real numbers
TP Do) €3 DD
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E.— {—5, —2}. where =_1s the set of real numbers

F— {75, 72}, K 70 200 a8

[-5, 2]
4.
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Let f(n)=A(-2)" +B(-3)" YA.BeR and ne N—-{1,2}. If

fln) +af(n-1) + bf(n-2)=0.then (a+b)(b—a)=

f(m)=A(=2)" +B(-3)" YVA.BeR £08030 neN-{1.2} @8é
f(n) +af(n-1) + bf(n-2)=0 ©ond, @& (a+d)(b—a)=

Options :

0

]IW

hn

bd
#
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If @ and b are any two real numbers, then

2a-2b—-4
4
2b

a, b &0 DT Botd TR VoA, YD

2a—-2b—-4
4
2D
Options :

4a
2—-b—a
2D

da
2-b—a
2b

da
4
b—a

=

4a
4
b—a-2
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4[(a+by +8(a+b)* +16(a+b)+8 ]|

1. =

9 3
. N 4.7
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v

Tt

(a+b+2)
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-3
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¥
2

—1

—4
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X

208050 AT=A. 008G, A S §¢ r wod, 1 +x =
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Let a. b. c. d € R be such that ad — bec #+ 0 and e be a positive number other than 1. If

go o o3 . m b a m a b
=e Xy =e,A= s Ay = and A; = , then the values of x
n o d e n C

Xy

and y are respectively

ad — be # 0 a5 @, b, ¢, d € R 00050 ‘¢’ 1 $0&3 D) 0D 63 Doy w§od.

m b a m a b
ol st T G il S 8w A; = 900, Y, V O
n d c n ¢ o

DD ST

Options :
4 N
Ay 4
R
1. v
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K. AL
&8
2. %
"jl =,
Ay As
7 Il
3, %
A A
e ej‘l
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Let = be a complex number such that |:|—: =2+i , where j=+/—1. Then, |z| =

[ol-2=2+1 . i=v-1 eocien z 2 Rodg Doay. WY, [7] =

Options :

r2 | h

]
%
b
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If the amplitude of z—2-3i 1s ;,theu thelocusof z = x + iy 1s

= —2-3i esasravo % wand, - = x + i1 & Dotk HSo

Options :

xEp=l=10

X~p—l =%
2. %

x+y+1T=90
3w

=93l =1
4.¥
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, . 3 =9
g F s d o 2 G B L —4008 § for some a. b € R, then (@ — b)* =
2 4 8 5+Dbcos 6
” 3 — D COS
I3 a,.bER S M LW. N B .. g OB, WD
2 4 8 5+Dbcos 8
(a —b)*=
Options :
0
| %
64
2.
36
3 %
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Forn>1andn€ N | if z,.z,.....z, are the roots of the equation (z+1)" =z",

n Cot™(2|Imz,|)-1

then =
,—Z=1‘ 2Re 2,

n>1andn€ N 3§, (z+1)" =2" 2QEETAS Joreren 7,2,....Z, H00B, )
n Cot™(2|Imz,|)-1

Z 2Re z,

i=1

Options :

k-2
¥

%[.?r—(fr—l)u]

3. v

%[n‘+(;r¢2)r:]
4.% -
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: , - x*+14x+9 :
If x 1s real, then the maximum and minimum values of — T are respectively
X TEXTE

x> +14x+9
X PRRSDD, —; § %505, Era DB SEOIP
i x°+2x+3 ° o
Options :
4, =3
1.v
5, —4
T .
9.3
3 %
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o S T :
When R i1s the set of all real numbers, (xR : V12-x- < VI2—x—x
x+10 2x+9

-

o DA - 2
R 5705 200 £ DN 290083, J.\*ER:\/L i ii\/l it ]
= PO~ x+10 2x+9 J

Options :

(—4.1]U {3}

411

b2

[-4, 1] U {3}
3. ¢

¢. the empty set
. P BPRRDD
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If o and f are two complex roots of the equation 6x° —25x" +31x* —31x* +25x -6 =0,
then o + f=

6x° —25x° +31x* —31x* +25x -6 =0 HOESEPS, o, B e Botd rooég SAPLPLONE,
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If & is aroot of multiplicity 3 of the equation x° —8x* +25x° —38x” +28x—8=0, then

o’ -5+ 6=

X —8x* +25x° —38x% +28x—8=0 NDQICEPRS, ePTVFgo 3 TF 0 Srvo o BN,

a’ —Sa+ 6=
Options :
1. ¢ .
1
2 %
3., -
3
4. ®
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Consider the following statements:

I: The number of positive integral solutions of x; +x, +x; +x, =10 1s 286

II: If 25!'=10"<k, (keN)thenn =6

SEARSNIWEASINVREToTplo- TN T
I X X, +x5+x, =10 &S Qrored wdSw Doty 286.
II: 25!=10"%k, (FeN) ®and, o)& n=6.

Which one of the following options is true?

80l DI yFOS T Ng0?

Options :

Only I 1s true

I Soeg0 dS(0
1. =

Only IT 1s true

IT So°ga DS(0
2. ¢

Both I and II are true

I, II Qolsr 0&9ge30

3I33

Both I and II are false

I, 11 Bochr @e5gedd

4.8
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A student 1s allowed to select at least (17 + 1) books but not all books from a collection

of (2 + 1) books. If the total number of ways in which he can select these books 1s 255,
then the number of books m that collection 1s

(2n + 1) YIS w8 Dodiofe Do, & JE°g0 Ee (1 + 1) ISP S8 S8,
S ©) VLD BEHG® GoliPdS BODDBPE. & DIFOD OBL WodE

SWEHEOOHS Ao HEETL Doy 255 9008, €8 DotsoeS D LS Y Loy
Options :

Question Number : 17 Question Id : 7196501297 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
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If x is so small that all terms containing x° and higher powers of x can be neglected,

2xY" .
1+"—:} (4+5x )"
then the approximate value of — 3 .when x= , 18
(9+x)¥ 371
X’ Q0w x WASBE HIPTPL) KO B DEPOSP SASVth D) & VOISR X oS,
A\ )
1+2—;}' (4+5x )"
- - § GOPOWCR) MR ¥=—— IO\
(9+x) 7 §ONe) 371 ")
Options :
*
w27
29
o 378

~
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The sum of the coefficients of ¥ and x* in the expansion of J3 +x+5 +x when

3<x<35. 18

= |
3 <x <5 oIV V3 +x /5 +x DY’ x 7 o ¥ © fese Do

Options :
_9+\/§
| 16
1 %
572_18
5o 16

i w 6
5-6
4 % 6
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x> -5 A B C ;
If % =f(x) + — + =5 + , then the larger value of K for which
X +Xx X X x+1

FIK)+TA+TB+C=118

> - :
%:f(r)_kr'l_{_B‘+L@wa!‘f(K)+A+B+C:1@CBJ?S§PK
X +x X X x+1
030G 20D
Options :
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If cos x —sinx =+Jasinx,then a sinx + cosx — sinx =
COS X —SiN X =.jdsin x,©0NS3, a sinx + cos x — sinx =
Options :
—Ja sin x
i -8
a COS X
2.

[Jr?—l)sinx
—\/(Tcos X
e

i
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Match the items of List-I to the 1tems of List-I1

2P -1 €5'V ©oFSNLN, 8220@® 11 5°0 odSnees” 23930

List -1 List-1I
A) The period of sin’ x is D 27
sin? ¥ e9:5680 3
%
B) Maximum value of i’__f_(J_i cos3x+sin3 x) I 12 =
o
%(ﬁcns?‘x-o-sin?r.r)ﬁéa;) S
: L X X . i
C) The period of sin — +cos — 1s Hl) =
3 2 2
sin — + cos % 22580
D) Intersection points of y = |si11x‘ and IV) 3r
2
v=1m (0. 7)
V) n

(0, 7) & y= [sinx|,y=1 © ®o&d
Dot

The correct match 1s
000G 2

Options :

L
e
a
o

1. ¢
A B C D
.« N T 1 I
A B & D
III I 1Y V
3 ®
A B E D
IV 11 II V
4 B
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] . then cos 6 =

cnt[é) (Eﬁ} 2900 , W\ED cos B =
2 ) 2) s
Options :
(cos A)+a
i l—acos A
(cos A)—a
l—-acos A
2.v
(cos A)—a
l+acos A
3w
(cos A)+a
l+acos A
4 %
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k \

. ; 1 ‘ ’

It ZTanl[ - t:Tanla..then o =
e | n-+3n+3)

k
ZTHH_IL . 1 ]:Tan‘la OB, WDND o =
= n +3n+3

Options :
I

k+2

]I'ﬁ

2k

2k+1

2k +5
3. ¢
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. il £ e
The set of values of x such that Tan™ [ J— Tan™ [
Y

X

e ) p
Tan™ [ }— Tan™ ( 2 - : J = Tan™ %] AR X DLVDL VD

x—2

Options :

¢

_[\J
&

¥
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If sin O cosh aa =tan x. cos 6 sinh aa = sec x, thencos 26 cosh2 a=

sin O cosh a =tan x. cos 0 sinh a = sec x @B, cos 20 cosh2 a =

Options :

1

], =

-2

b
r

(sl

dh
¥
Y
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If the sides of a triangle are three consecutive natural numbers and its largest angle 1s

twice the smallest one. then the area (in sq. units) of that triangle 1s

] @26)3&0@5‘ 2220 Pt SG0 Dires DoWEN, YoS° WP BBIES tio, VDI §'eeR8
0o, & Balbesdzruge (W | mmggef}" )

Options :

2.
8
s -
14 5
4. ® 3
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" ¥ i
In A ABC. AD and BE are medians drawn from A and B. If AD = = DAB =g
and |[ABE =§ . then the area (in sq. units) of A ABC is
. 7
AD, BE 0 AABC &', A 50050 B © oG H:DS 856 Swen. AD = —. [DAB =

50050 |AB =% wand, A ABC pwogo (3 || chraie’)

Options :
7
12
1, =
o
> # 36

collegedunia:s

India’s largest Student Review Platform




12
3. ¢

&

36
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If the radius of the mcircle of a triangle with sides 5k, 6k and 5k 1s 6, then the largest

angle of that triangle 1s

Sk, 6k Q08030 5k eherenr fo Sabete @S Sy gl 6 VOB, &8 SEFIS
0D $edo

Options :

Cot™

ge——
~1 | W
I

E-J
<
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If a, b, ¢ are three independent vectors. and there exists a non zero scalar traid

(. m, n) such that /(3@+2b+¢) + m(2a@ + 2b +3¢) + n(@ + 2b + 5¢) = 0,

then

a,b. T en Jrt D(Sod DOBLD, O

I3a+2b+¢) + m(2@ + 2b +3¢) + n(@ + 2b + 50) = 0 ooyt ol &P
QIR0 (1, m, 1) S3SVLBBD, YN

Options :
I=m=n
]Iﬁ
i [=n
=n.m+2n=0
3. ¢

m+2n=0.7+n=0
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If a and b represent two non collinear vectors, the equation »=ta +(1—-7)b represents

a, b e DBDIF T Bocd PEFVANS, r=ta+(1—-1)b PSS AFDRE
Options :
a point on the third side of a triangle for which @,  are two sides, only when
0<r<1
a, b Bt BderevrPiiv Sabae TGS ahe P Wl Do, 0 < 1 < 1

) B0IRY) YW o35°E
l.

a point on the line joining the points whose position vectors are a and b

@b FSOBIT K50 oD 50D B P Dotioedd

!\-\J‘
=
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a vector 1 the plane of a.b only when 7 > 1

a, b © S0 8 HOID, 1> 1 GONIY N STSD

a vector in the plane parallel to the plane of a and b. only when —1 <7< 1

a , b © GO DSTPoBEIT Gols B HBHD, —1 <1< 1 SONSY YD S

4 %
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Let a. b. ¢ be three vectors such that the magnitude of b is twice that of a and

magnitude of ¢ is three times that of a. If the angle between each pair of vectors 1s

Z and ‘;+5+;|=5* then |E|TIE|_‘B‘ )
3

a. b. ¢ 0 P DBIN, b HOSTE a HOAFETrIS aggo@, QOS® ¢ DOAFEIO a

T

DOSTEPDS DPCOLD edier eTT)ow. DS 1S VOV WG| Swo =

» QOS°

‘E+S-E|=S, eH003, LN |E|+‘E|-.—‘3‘ =
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If a. b. ¢ are three mutually perpendicular vectors such that the magnitudes of b and

— I .2 3 .. = :
¢ are — fimes and ) times that of @, respectively, then the angle between the vectors

e

a+b+c and b 1s

N —_—

b, ¢ © DOATTFOD SOV a. HDOIFEFIS % Ot0, —— O &GoGer, a, b, ¢ e

BUTED DONG Vo) DEBVONS, BV @ + b + ¢ bakd b HBIL 26 o

Options :

2. v
Cos'l(ﬁ]
4
3. #
Cos™ i]
4
4 ®
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The locus of the point P(7 ) which encloses a triangle ABP of area 1 sq. unit with the

fixed points A(7 ) and B( j ) is

A(7).B(J) fgcsa:)oma:;ues‘*, 2.8 35 || ciaraé geroge fio Sabeze ABP D Dowgo 8
Dot P(7) Dotdodéso
Options :
X +y +z" =4

1. %

(x+ 2)3 +x° +_1': =1
*

-2

(x+y-D*+22" =4
3. ¢

~

T
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(x+y=1"+y*+27 =1

4. w

Question Number : 34 Question Id : 7196501314 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
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The shortest distance between the skew-lines r= (—r‘ +3A) + r(2;+3}+ 6?) and

;=(3;+}— ) B 5(21? —j+2!'f) 18

© Sy $% Srdo

Options :

10
« 17

<

Question Number : 35 Question Id : 7196501315 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
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Correct Marks : 1 Wrong Marks : 0
th th

In a discrete data 2 of the observations are equal to a, another — of the observations

are equal to —a. Out of the remaining, half of them are equal to b and the rest are equal

to —b. If the variance of all the observations is (a b). then

28 é)&gé;.__ SBPoFoS % S S0 DOILILN a § VSIS0, NE'S % &S oSo® DO —a

§ 0P Se. MO arddeS D% b &, MIED —b § Jelrde. POBUNOR) 03 YD (a b)
WONB, WY YW

Options :

a’ =4b°
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2. %
a=>b
3. ¢
- a=-3D
4
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For the following distribution. the mean deviation about the median is

808> DETEIAS, S35 5 33Ps SoDgD DS

Xi | 6 12 18 24 30 | 36 42

h

% | 4 7| 9 18 15 10

Options :

8.0

<

Lad

Question Number : 37 Question Id : 7196501317 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question

Mandatory : No Single Line Question Option : No Option Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0

If a man throws a die until he gets a number bigger than 3. then the probability that he

gets a 5 mn his last throw 1s

8 538 DD 3 5085 DEG Do B30 SEEP ST , BB WO ANPSIGES” 5 By
202755

Options :

a) |

4
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Question Number : 38 Question Id : 7196501318 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

A diagnostic test has the probability 0.95 of giving a positive result when applied to a
person suffering from a certain disease. and a probability 0.10 of giving a positive
result when given to a non-sufferer. It is estimated that 0.5% of the population are
suffering from the disease. If this test 1s now administered to a person from this
population about whom there 1s no information relating to the incidence of this

disease and the test gives a positive result. then the probability that he is a sufferer. is

28 P30 DT DO, 88 g0 o FREHE $589 WODID FPOIFO HOBo SBy VorrSge
0.95, TPg@eS* BRGSO S350 (DOBY FPHETFL HOBo Sy VoarSse 0.10. &eeres’ 0.5%
Vo B TPOIEEI) QTP WodTr. 2TPWPS 7l F8edd SE SO0ND &l I35 &2
DOEK OBV Y PHEPO HOB0 S BB BN PSS DogPSge

Options :

0.9545

0.2194

[

0.0455
3.¢

0.9499

4 ®

Question Number : 39 Question Id : 7196501319 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
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Consider the following statements:

Assertion (A): If Py. Pa. P3 are probability of happening of three independent events,
then probability of happening of atleast one of them is
1-[(1-P1)(1-P2)(1-P3)]

Reason (R): For any three independent events A, B and C
P(AUBUC) = P(A)+P(B)+P(C) —P(A)P(B) —P(A)P(C)
—P(B)P(C)+P(A)P(B)P(C)

808 DISBTOD DOIoSol:
QBYSBBLAW (A): Pi1, P2, P3 00 S0 D(S08 200300 268 Dozrdisen eond,
LN T°¢5° £DDo wE 268 R0ed(S 1-[(1-P1)(1-P2)(1-P3)]
0ma (R): Do Haored D S0 Doeden A, B odain € o
P(AUBUC) = P(A)+P(B)+P(C) —P(A)P(B) —P(A)P(C)
—P(B)P(C)+P(A)P(B)P(C)

The correct option among the following is
&8 S0 DRYFOS HOAWIH
Options :
(A) 1s true, (R) 1s true and (R) 1s the correct explanation for (A)
(A) Dehgdw, (R) Dehgasn 00k (A) § (R) DOALS Dasde

(A) 1s true, (R) 1s true but (R) 1s not the correct explanation for (A)
(A) Dehgasw, (R) Dehgadon 90w (A) § (R) D0GNS e5G€s 5260

]
E3

(A) 1s true but (R) 1s false
(A) Dgsw, 5°0 (R) e905ga50

(A) 1s talse but (R) 1s true
(A) 08500, °0 (R) 0Dgadw

Question Number : 40 Question Id : 7196501320 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question

Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
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If probability function of a discrete random variable X is P(X = r) = L #=1981%

4. 5 then P[X= 201‘X=§]. 18

28 DD ALPYDYE W08 X § DoarSge® PFoake P(X = r)=—. r=1,2,3,45

p s
09003, P[X= 201*X=£], =

-

Options :

P(X=1orX=6)

1. ®
P(X=401'X= —']
2.
k
P[X= T 0rX=“?]
3% )
k
P[XZ ; 01}&:0]
4% )

Question Number : 41 Question Id : 7196501321 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

If the probability that an individual will suffer a reaction from an injection of a drug 1s
0.001. then the probability that out of 2000 individuals having that injection, more than

2 mdividuals will suffer a reaction. 1s

28 S90L80R) PG TPYO° BRUKS), S8 o065 DEIoSCh0es® BPEE VoteS5e9 0.001 e,

& X0PBS00t) SRS, 2000 2008 SEOES, HEOZET %) 535000 DEBotEoes” TSI
:JDEJD&(JEI@

Options :

h

~

T
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Question Number : 42 Question Id : 7196501322 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Let A= (2, 3), B=(3, —5) be two vertices of AABC such that C 1s a point on the line
L = 3x + 4y — 5 = 0. Then the locus of the centroid of AABC 1s a line parallel to

AABC & A=(2,3).B=(3,—5) G0t 370 C Do) L = 3x + 4y - 5 = 0,
Gad2d €0CienT) 0 WD\ AABC Sogrerdrds DotdEnd 88 DTroddorr
&oGd

Options :

L.~4
1.9

Question Number : 43 Question Id : 7196501323 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

If ac® + bB2+ caP + d = 0 is the transformed equation of 4> +~/3xv+517 —4=0

obtamed by using o = —23- X +-l— and £ = —-#;E + é}' . then c(a + b+ d)=

— — i

1 ? ; 3 1 2
af:for% 20005 ﬁ:—%+\rj' D oG 4x‘+\/§.n*+5_1-‘"—4:0 Q Graretddoe

2

W &30 DESes0 ac + bB1 + caP + d =0 wond, @@Q{.‘b cla+b+d=

Options :
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Question Number : 44 Question Id : 7196501324 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

If the normal form of the equation of a straight line 4x+3v+2=01s

: oy o .Y sec
xcosa + ysing =p and its ntercept formis —+ 3 =1, then p—b:
a a

4x+3y+2 =0 J6F0 DNEGEPIS 9200 Fo X cosa + ysing = Pp, HOOSW TP

kg, T & seca
©oBOWElrle —+—-=1 OB, VYO "t e
a b ab
Options :
-1
.9
1. X =
3
5
2 %
-3
=
3.
1
3y
4. % =

Question Number : 45 Question Id : 7196501325 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
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For an mteger K. if the point P (KE. K+1) and the origin O(0, 0) lie in the same region

between the lines x+2y—-5=0 and 3x—1v+1=0, then the possible number of such
points P 1s

wf Qoo K 8, P(K.K+1) Dotoafr, SH00N re Doded O(0. 0) ew
x+2y—35=0, 3r—y+1=0000 BH0 a8 OIS &, B U dudbs
ai’}oc&:@wPe_:ﬁ:om5

Options :

], ® 4

2

2.¥

Infinitely many

©ndoh
4 %

Question Number : 46 Question Id : 7196501326 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0

The area (in square units) of the quadrilateral formed by the point of intersection of the

lines x+y-1=0x-y+1=20

the point (1. 1) and the feet of the
perpendiculars from this point on to the lines is

Y4+ v -1=0x -y +1 =0 8o Do&d Doy, (1, 1) Doy, & Dotod

2000 So P3 ADD vowdrTRd 6\E SSt R0 DTV (3] |abrdes”)
Options :

b | =

1.¢

!
V2
o

2.

~
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Question Number : 47 Question Id : 7196501327 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

The condition that the lines joining the origin to the pomts of mntersection of the two

curves x*+1° +gx+c =0, x’+1>+2 f v —c =0are at right angles. is

SrUBelud0 ¥ +12+gx+c =0, ¥ +12+2fy —c =0 S50 Do DotoPoes’
5 OV Lol P GoGeotdR AODo

Options :

2 9
u BTk
g’ —f1=2c
f‘?—-ﬂlgl:SC
2 Gl
o E 4f°=8¢

Question Number : 48 Question Id : 7196501328 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

If « represent the square of the distance between the origin and the point of intersection
of the lines x* —1* —x + 3v—2 = 0 and S represent the product of the perpendicular

distances from the origin on the pair of lines. then «of =

Sr2otdads, X* — 17 —x + 3¥—2 = 0 BDO PoteS WotieaHS &g BPTPRS ST°VY, &
'SP, Sr0Rdede) Dok TIPCINTYNE LoodrTrw LErd) F 'SP JPdR), W
af =

Options :

|

—

B | th

3. ¢
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Question Number : 49 Question Id : 7196501329 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

If the parametric equations of the circle passing through the points (3, 4), (3. 2) and

(1,4)1s x =a + rcosé,y = b + r smé,then b 1=

(3. 4. 3. 2), (1. 4) DoOHL ot VA Do DTWAOH DAECETLD

X =a+rcosf, v =D + rsinf, o3 H?r”=
Options :

27

1. ®

18

Question Number : 50 Question Id : 7196501330 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

From a point P on the circle x* + v° — 4x — 6y + 9 = 0. a pair of tangents PQ and

PR are drawn touching the circle X'+ v — 4x — 6y +12 = 0 atQand R. If C is the

centre of the concentric circles, then the area of the A CQR (in sq. units) is

¥4+ 4y - 67 + 9 = 0,800 28 Dot P Aod ¥’ +37 —4x—6y+12=0
QQ, R & 5 0380wl 23¢9 0)000e0 PQ, PR en Aotersrow. ds8odobod,gre
Sogo C @and, A CQR 7o (]| cSrags’ )

Options :
1
1. ® 2
3
2. % -
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Question Number : 51 Question Id : 7196501331 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question

Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

The equations of the tangents drawn from the origin to the circle

4+ +2gx+2fv+g>=0 are

SXPO Botided) ols, X°+ 17 +2gx+2 f v+ g% =0 SYTPA8 HAS D800 DESEPLN.

Options :

l.

_[‘J

x=0, (33 +f3]x—2gf11'=0

#®

x=0,(g’-f)x-2gfy=0
e

3 o

Question Number : 52 Question Id : 7196501332 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question

Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

If 2x + v = 0 is the equation of a chord of the circle x* + v*— 2x — 6v + 3 = 0,

then the circle with this chord as diameter passes through the point

X+ 3= 2x — 6y + 3 = 0 S8 s &) DSCE0 2x + 1 =0 0ond, & 2§D

T§R0re SDAD Jydo J'AD Doty

Options :
(—3,2)
L "
(3,—2)
7R
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Question Number : 53 Question Id : 7196501333 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

If the radical axis of the circles x* + v° + 2ax + 28y + ¢ = 0 and

-

3 . )
¥+ P +>x + 4y + ¢ = 0 touches the circle x*+ v*+ 2x + 2y + 1 = 0, then
4aPB—8a —3p+10=

g ) 7 i, g ) 3
X+y'+2ax + 2y +c =0, x4+ y+ox + 4y + ¢ = 0S5 Tro dorerso

—

X+ ¥+ 20+ 2y + 1 = 0 35y D3, 4a P-8a —3p+10=

Options :
2
1.
—~2
2.%
4
3. ¢
=
4. %

Question Number : 54 Question Id : 7196501334 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

If PQ is a focal chord of the parabola y* = 4x with focus S and P = (4. 4). then
SQ=

P = 4y Dordeardd S D, PQ s ey, Svbat» P o= (4, 4) eawnd,
@@Ddf} SQ =

Options :

~

D s

collegedunia:s

India’s largest Student Review Platform




b2
<
| W

LA

1 | W

Question Number : 55 Question Id : 7196501335 Question Type : MC(Q Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

If the parabola x°=4ay.(a >0)makes an intercept of length +/40 units on the line

yv=1+2xthen4a=

y=1+2x d2p ¥’ =4av.(a>0) dordwao V40 arde FEd) e eoddaotio
bﬁbaf_g, 'E'_“z‘TQ)DCiD 4a =

Options :

1
1, ¢

1

2
7 ®

2
3.

4
4 % 3

Question Number : 56 Question Id : 7196501336 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

If tangents are drawn to the ellipse x* + 2y” = 2. then the locus of the mid points of

the intercepts made by those tangents between the coordinate axes 1s

X+ 297 = 2688)8°08 D800 6, 8 015000 I AEFHFIL Sxs DS\
SHET LI IINVATENEAVN) SRR AVAT

Options :
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L+L:1
2 4
1, %
P
4 2
1,,+ 11_1
2x° 4y°
3.
lq}+ 1.,:1
4x~ 2y°
4 %

Question Number : 57 Question Id : 7196501337 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

The area (1n sq. units) of the quadrilateral formed by the tangents drawn at the end

2

points of the latus recta to the ellipse S = E ~ H;_Zh =118
S = ;6 4 ;j = 1 BOSYTP8, TDectIo Votdy DoldPHO ¢ HAS VG 0OS*

DGN& Sehtyze FPvge (]| Arabes )
Options :

96

1. =

16

s

-2

128

64

Question Number : 58 Question Id : 7196501338 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
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- o L & T: .1‘2 3£ 2
If p. g are the eccentricities of the hyperbola —- — =1 and its conjugate hyperbola

4

respectively. then the area of the square (in sq. units) formed by the points of

"

da

mtersection of the ellipse — + 'szl and the pair of lines x> —1?>=101s

P q
2 2
P, q &0 SEUP 9edH0TPS00%0 ; - ‘;—Ezl S0O0IN TPQ De0ig) BOTESLOIL
"
2 2
&) oB0D, HBSyBo — + Lr=1, SO0 VETBarAie ¥ — 3 = 0 ©
- P q

Dotsdotied)es” 283 ItSTe JFerego (3] | ardies)

Options :

L.

-2

¢ 4

Na

-

V3

.

16

w

Question Number : 59 Question Id : 7196501339 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

[T, Ty, 11z are three planes which are respectively parallel to the YZ. ZX and XY planes
at distances a, b and ¢ forming a rectangular parallelepiped. d; 1s a diagonal of the face
on XY- plane not passing through the origin and d, 1s a diagonal of the plane I
coterminous with d;. If none of the coordinates of the vertices of the parallelepiped are

negative, then the angle between d; and d> 1s

M, Iz, I1z e S8 YZ, ZX, XY @erod) 0858 a, b, ¢ droressS o, o
BB, DEBT=) 00, XY- S0 P &), HSIIN0 508708 SPL Rotdel) Boow FQ
af D80 di, Th GO di 8 BIPSPILAT Solns), Do dr. BV BNE),
D3GR ISy AEPHTL LNEPTYLD o) ©DF0eE, di, dr © 50580

Options :

~

T
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Cos™
L
2. =
T
2
1.8
Sin~*
4 ®

5

a

a’+b’+c?

2

a

-1 a
s/a3+bj\/a3+c3 ;

\

|

m
x/a2 +b° \/b‘2 +¢?

Question Number : 60 Question Id : 7196501340 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question

Mandatory : No Single Line Question Option : No Option Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0

The obtuse angle between the lines whose direction ratios are determined by the

equations a+b+c¢c=0,2ab+2ac-bc=01s

a+b+c=0,2ab+2ac—bec=0 JNISerwes’ o0t G5 SVH Ko Twe iy

fﬁ)nﬁ:@‘aao
Options :
S5
1. % 4
27
2. 3
i
6
3 =~
67
4 # S

Question Number : 61 Question Id : 7196501341 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question

Mandatory : No Single Line Question Option : No Option Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0
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A plane meets the coordinate axes at A, B, C respectively such that the centroid of the

AABC is (2.3.5). Then. the equation of that plane is

AABC Sogrerdo (2,3,5) oo a8 Svo JErdszo A, B, C © 38
OG0B, WD S0 VDSEE0

Options :

Ix+3y+3z =10
1. ®

6x+9y+15z =1
2

2x+3y+5z=

3w

15x+10y+62 =90
4.

Question Number : 62 Question Id : 7196501342 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
Let [x] denote the greatest integer less than or equal to x and & > 2 be an integer. Then

én{[ﬂ-[ﬁ]—x]mn k

Lt : - =2
x—k x—k

sin

[x] 058 x S0 S50y Se DATFSIES K0Q DPTeVY HPIWed, k > 2 28 RFGoso

a

08 00, WY\ er
Y—

Options :

1

], ®

b3
x

—cos k

sin A
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Question Number : 63 Question Id : 7196501343 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

'

Definie £ [l+x D=sxx<?
clime X)= "
Wi neass

If fof (x) 1s discontinuous at ¢ and b [0, 3] and @ < b, then 2a +3Db=

%, 05x<2
)= % =t . PSS, fof (x) [0,3] & a,b o SEG DNV, a < b

7, s IO o

2900083, D\ 2a +3b=

Options :
1. % 3
2

2.
B

1 B
8

4.v

Question Number : 64 Question Id : 7196501344 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

d "
—_ [cosech "(tan 2.1-]]=
dx
Options :
2 ‘sec 2x
| ®
cos 2x
:'“ £
—2|CDSE‘C 2.\"
3¢
sin 2x
4 %

Question Number : 65 Question Id : 7196501345 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
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Options :
13
9,
L%
2
13
2 ®
13
3% D
5
13
4.v

Question Number : 66 Question Id : 7196501346 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

) fh)_}f( B). Sl xand y. If /' (0) exists

and equals — | and /(0) =1, then f(2) =

Letf: R >R be defined by f

[T+1

f: RSR, fl 2‘; < SO g 5 o o D0, [ (0) S50, — 1 &

Rerd0 HoBodw f(0) =1 wowd f(2) =

Options :
T
0
2, =
1
¥
3, % -
1
4. %

Question Number : 67 Question Id : 7196501347 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
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Mandatory : No Single Line Question Option : No Option Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0

o

The angle A of AABC 1s found by measurement to be 6?% and the area of AABCi1s

calculated from the measurements of b, ¢, A. In measuring A, an error of 9 minutes is

made then the percentage error in the area of the triangle 1s

4]

AABC &° €m0 A D Sodrr 6?:1; 0 $&08) ) . AABC gFerd) b, c, A o

Sodcio or(T° S08) T 6. A D Fodcioss” 9 Dawaren So &oll, Gghas DT e 0

B da0oh?
Options

LB
1 *

6
2_35
b/
GEs e
12(~E+1)
'JJ_'#E
T
N _
12([ 1)
4.9

Question Number : 68 Question Id : 7196501348 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
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Correct Marks : 1 Wrong Marks : 0
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Let f:R—>R be a bijection. A curve represented by y = f(x) is such that

f'(x)>0 Y xeR. The tangent and normal drawn at P(a. 1) on the curve cuts the

X-axis at A, B respectively and C 1s the foot of the perpendicular from P onto the
X-axis. If P(a. 1) is such a point that AC + CB i1s minimum, then the tangent at P is

parallel to the line

FIROR 038 &ybe oooohamn oo, VreR f/(x)>0 ocbib
v = £(x)B 2rdonwd S God. & S0 D P(a, 1) S8 HIS $36:00, ©D0D
X- 0xd) ST A, B 0 &6 @oGron Soockn C @36 P Hoow) X-093208 ADD

Loearco. AC + CB £ ab{erot) Do) P(a, 1) wod, P H¢ AR 05 00%
IO Gole O

Options :
x=y=0
4
ax+'y—1=~0
2w
J
3 %
2x
N :a'z
a
4 B

Question Number : 69 Question Id : 7196501349 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

. 1 :
The x — coordinate changes on the curve v =3x” + 15 x — 8 at the rate of — units / sec.

5

A(xy , v1). B(x2 ., 1) are the points on the curve at which the y - coordinate changes at

the rate of 6 units / sec, then the slope of AB =

y=3+15x—8 Sdop x— Dirdeo % QRPN / DL BES STSeSd. SEoR

A(x1. 1), B(x2. 12) © 36 y -Derddo 6 arden/ DS Bws 5708, AB oen =

Options :

l.

10

w

~

T
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In A ABC. |B=90° and (b + a) is always a constant. In order that A ABC encloses the

maximum area, |C=

AABC &° |[B=90°, (b+a) QU T 28 ?gn‘oéc. A ABC 183 2700 DBexgo
B0 deorr |C=

Options :
T
PR -
]I&
T
2. % 6
T
jE
3.4 0
27
-
>
4 %
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1)d
If _[ o = A.Tan™',/f(x) + constant, then the ordered pair
T+l)-J X +x°+x

(A. f(-1)) =

I( | ]()1\/_13);?: = = AFan o fx) + %U“DQO 2900 ngZiDﬁ&o(Aq f(—l) ) =
i g X X X

Options :

(2,1)

1. %

(2,-1)
2.
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2x + 3) -5 2
If == 4, — = d x) d
f[_3x+5) X + r:3 3 an _[f('t) hS

Ay + B In |3x—2| =

then 3B-A =

2x + 3 -5 3
[ l=x+ 4, x #—, — &’)JOCﬁJJIf(r)dr=Av+Bh1 |3.1:—2| + C,
3x +5 ) 3" 3
e900d, 3B — ;
Options :
64
L% 9
52
21
2. %
—-10
3
SIW

collegedunia:s

India’s largest Student Review Platform

~

T




-8
3

4.9
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X —8x+19)  _ e (ix+m)

_ : X = —+C then 4/+m=
(x-1° | (x—1)

‘] __

2 \ X (7.
J-Ex(.x 8x+19JdT _e (/x +?H)+C@m, e

. (-1 (x-1*
Options :
. =5
]_#6
=,
s 3
3 E
0
4.v
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I dx
(x=2)4fx* —3x+5

Options :

_—1 Cosh™ L +C

V3 V37(x-2)

T e (L. S POV
3 J11(x-2)
2.
= x+4
— Cosh™ +C
NE) Jﬁ(:r—z)
3 o
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_— 7x—8 .
ﬁSmh {—m}f("

a

Assertion(A): I f(:r)dr=_[(f(:r)+f(-x))dr
-a 0

b gib)

Reason (R): j-f(x)drz j flg(u))g'(u)du
BB (A): [ f(x)dx =[(f (x)+ f(=x))dx
-a 0

b gib)
seOesw (R): If(.ﬁ:)dt’z I flg(u))g'(u)du

The correct option among the following 1s

& Sold DRYTUS HOGDIE

Options :
(A) 1s true, (R) 1s true and (R) 1s the correct explanation for (A)
(A) Dgdw. (R) Dgasn 00080 (A) $ (R) 0G0 DS

(A) 1s true, (R) 1s true but (R) 1s not the correct explanation for (A)
(A) Behgadw, (R) Dehgasn 00w (A) § (R) D0 Da58es 5°¢

o

(A) 1s true but (R) 1s false
(A) D50, 520 (R) @905

3. ¢

(A) 1s false but (R) 1s true
(A) ©0gasw, 3°Q (R) HBgaso

L ®

~

T
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If cosx+cos 2x+

COs X +cCos 2x+

Options :
n°
n+1
L. 4
—4n
2n+1
2.
2n
 2n+l
3, ®
—n
2n+1

iiiii

i CORM X

+ COSNX =

A(x)

———— OB, WD D

-
2 s —
2

A(x)

2 s —
2

then .f Alx) dx=

j4(1) dx =

Question Number : 77 Question Id : 7196501357 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
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Correct Marks : 1 Wrong Marks : 0

The area (in sq. units) bounded by the parabola v = x* + 3, the tangent to the parabola

at (3, 12) and the coordinate axes and lying in the first quadrant is

y=x43 D0PS00%0, (3, 12) $& HOPSOAER0S 016308 B0 AEFHTTOLS” 20BN,
0055 ot dod Fugo (3| AHFLES)

Options :

6

30

18
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2

3
L P & Y
The order and degree of the differential equation —-+y+| ——-—=| =0.are
dx- \dx dx’

respectively

d_f by 2 5 4 | =0 SIS0 RIS DO BT SIS ST

Options :

3.4

2
2

s
(B

3,3

Question Number : 79 Question Id : 7196501359 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
dv 2x-3y + 4

The general solution of the differential equation — =— 1s
dx 3x+ 2y -7

: o
TN A s T N
dx 3x+ 2y -7

Options :

2 2
Xty =ity L

1. %

(2x — 3y)'+ 3x + 2y)'=C
2, =

X+ 92+ 3xy—4x-Ty + C=0
3 -
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X 3xy— _1'1 +4x+7y+C=0

4.
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Correct Marks : 1 Wrong Marks : 0

d x +y+l1 .

The general solution of — =

dx y—x+l1

dv x +y+l

dx y—x+1
Options :

2xy+(x+1)° —(_11'—1)2 =0

£
(.T+I)2 -(‘1-+1): =C + xy
(,T+1):—52.*t‘_1‘=C(_j‘ +1)
(x+1)(y +1)=Cxy

4, %

Section Id :

Section Number :

Section type :

Mandatory or Optional :
Number of Questions :

Number of Questions to be attempted :
Section Marks :

Display Number Panel :

Group All Questions :

Mark As Answered Required? :
Sub-Section Number :
Sub-Section Id :

Question Shuffling Allowed :

8 D oodes FOD

Physics

71965026

4

i

Online
Mandatory
40

40

40

Yes

Yes

Yes

1
71965026
Yes
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Identify the incorrect statement

D0I0 2R VIS (oQovdole
Options :
All conserved quantities are not necessarily scalars

), V8L TrHLL BNV DOP LI %)

1. ®
The law of conservation of energy 1s valid only i macroscopic domain
38 VB3R AODNe S PPL TPHL DeTPe EGet” SO
2.
Weak nuclear force operates in the range of ~107"°m
QIR0 Sod8 WS ~107°m FehS® DI
3. "
Laws of nature do not change with tume
SATEENOVAVLSVRON VIO UA Ve o NVTe Ny
4 %

Question Number : 82 Question Id : 7196501362 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
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Correct Marks : 1 Wrong Marks : 0
In an experiment the angles are required to be measured using an mstrument in which
29 divisions of the main scale exactly coincide with the 30 divisions of the vernier
scale. If the smallest division of the main scale is half- a degree (=0.5°), then the least

count of the mstrument 1s:

w8 POIRISET SEPOD FORDOSH SHAIFDS DOETS” Trd PE°S DS By, 29
QETTPLY TP J0) OO O CIE), 30 LeTPOS VYDl P REESDFO. DTS V0 SR
5% Deto a8 Gif) &S 08550 (=0.5°%), BONSS TP EINY) SUB Wdoth?

Options :

half minute

€0 AN

1, ®
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one degree

a8 &)
2. -
half degree
od &GO
3, %
one minute
) 2uS VDol

Question Number : 83 Question Id : 7196501363 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
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Correct Marks : 1 Wrong Marks : 0

A ball 1s thrown straight upward from ground with a speed of 20 mv/s. The ball was
caught on its way down at a point 5 m above the ground. The time taken by the ball
during entire trip 1s

(Assume g = 10 m/s?)

28 208D RGP P Dok D5 20 m/s Ko DVOTONWED. 200D BB SobS
CISY KDY, BPERS 5 m EFSeeS &), Dothiad) S HENE2IES. I HOLPEo
WONGEERS 2o S0HT) Lo

(g =10 m/s’ ©§ &)

Options :

2+ Jgsec

1. v

3 _f3sec
2%

2+\Esec
3. -8

3.5sec
4. o
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A motor-bike starts from rest, attams a velocity of 10 m/s with an acceleration of
0.5 m/s’, travels 10 km with this uniform velocity and then comes to halt with a

uniform deceleration of 0.2 m/s>. The total time of travel is

DO°S%0 Sl WODLNBOS w IPerB) RS 0.5 m/s? Sgdeioes’ 10 m/s SPQY, oo
10 km &0 %63 Hioed HOLTRoDS S 0.2 m/s? EOS sawes Sgdeacived”
QODFEH. B 3B HOLH SV

Options :

- 1070 sec

1050 sec

1150 sec

1170 sec
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Correct Marks : 1 Wrong Marks : 0

If n=2x. rn=2y, where x & yare unit vectors along the x-axis and y-axis

respectively, then the magnitude of ;; + E 1S

R=2X, 1, =2V, 0050 X, v €0 SERP X-0XS0 SO0 Y-OFO KoG® Dol
D% WONSS, 1 + 1, GG DO

Options :

2.2

-2
Sy

[
8
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Let A +A, = 5A,

b2
¥

|
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The velocity of an object of mass 2 Kg is given by v = (St i+3t; ) m /s where t is

time 1n seconds. What will be the direction of net force on the object relative to the

positive direction of X - axis. at the mstant when 1ts magnitude 1s 20N?

2 Kg © §550% 6o af S o I v=(8tit3t)) m/ses
t SO0 JEIT, S XTS5 P OB wo H0STe 20N @00 00N, &
S3069) B HO B HOS o &

Options :

[
8
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A box of mass m 1s m equilibrium under the application of three forces as shown

below. If the magnitude of £, is 10 N, what is the magnitude of £, ?

8o HASNES" SrdS DBST SP weren HAlrhedewd ‘M’ JSg078 (o 2.8 erSy
DT PAS’ &I B. [, HOSrese 10 N 00ndsS, f, D0t adoth ?

f,
60° f
, 30°
m
f;
Y
Options :
SN
1.
ISN
7 %
20N
3. ¢
30N
4 %
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A moving body with a mass m, and velocity u strikes a stationary body of mass mo.

: . m .
The masses m, and m, should be in the ratio — so as to decrease the velocity of the
mn,

2u . : . : . .
first body to 5 and giving a velocity of v to m, assuming a perfectly elastic impact.

-

Coom, .
Then the ratio —~ is
m,

n’ Jees” DO My Q308 (0 &8 SWa) VOD &) oDTE m, Kd30°8 (90

SX0095 EE B . S5 T m, S0GK my, © IS L. 6f YBFHE SNHFTP)
. s m. »
"
PO B S0 o - & &), DotssS SK0D M, S0 o V' BB, SAWS

m
— 0 AND
n,
Options :
5
1. ¢
1/5
&
1/25
|
25
4 %
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A force acts on a 30 gm particle in such a way that the position of the particle as a
function of time is given by x = a t>, where x is in metre, t is in seconds and

a =1 (m/s?). The work done during the first 4 seconds 1s

30 gm $S50°% KO ¥eaop, 2o DAIDVS) DD T D O HDohe x = a ™
G3320G0l. FotS x WJES', t VIS DO o = 1 (m/s2), F0EED 4 DES DSOS
2300000 DR

Options :

09617
1. v

0457
2 ®

0.491]
3 %

053171
4 %
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A straight rod of length L i1s made of a material having mass per unit length

m(x) = A |r‘ . where x 1s measured from the centre of rod. The moment of mertia about

an axis perpendicular to the rod and passing through one end of the rod will be,

L=1mand A= 16kg/m’

DSes TS B0 BS530°8 m(x) = A x| P K0 a¥ Jardees” SordS QL) K
CO0EY, F&aed L. 29)&0 %', & GUnE) Solio Dol SLSeIG0. 86 a8 IS8 SHols IS0, 868
Vo2 P &) O¥o Jo2l 2] ZEESW Dewd L = 1 m SHoaiw A = 16 kg/m®
IO SUNM) Ty

Options :

"\2 ”
J—kg—m‘
3

1. ¢

~

T
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2. %
3 .
—kg-m’

3
246kg —m’

4 B

Question Number : 92 Question Id : 7196501372 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
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Correct Marks : 1 Wrong Marks : 0

Consider a uniform horizontal solid cylinder of mass 10 kg such that its length is 9
times 1ts radius. Let the radms be 40 cm. Calculate the moment of imertia of the

cylinder about a line passing through its edge and perpendicular to its axis

10 kg $5 0°8 500 3922 DSTothor™ &5y D0 Loes o GINE), Feed), TPgPeDs

9 T Gold. PgPdSn 40 cm ODNEIS Yo GG, Woudd ol I TPV WFRS
o200(P &), 8 DB Jotls TP GI0%), BESY &P %o

Options :

21.3 kg—m?

18.7 kg —m’

23.6 kg —m’
3 ®

10.9 kg —m’
4.
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A particle 1s executing simple harmonic motion in one dimension. If the amplitude of
oscillations is 0.2 cm and if its velocity at the mean position is 5m/s then the angular

frequency of the oscillation 1s

8 Sedo aEBONCP DSV FPoPeRE EOde Fed. TPO EOS HOWS 0.2 cm SHOAK
S7C53E08 PSo B TR Sko Smfs ©ONB, G CINE, SHAD F%: Q30
Options :
1000 rad/s

1 B

1500 rad|/s
2000 rad|s

2500 rad/s
4.
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A mass M 1s split into two parts, m, and M—m,. These two masses are then separated
by a distance D. If the gravitational force between the parts is maximum, then the

m_ .
18

ratio

™M &S50°80 Mo 000K M-1m,, PPOS” Jerflodwbiol. &8 Ot $goeden ‘D’

Sr&oeS m&m%?w. Tolid 7P 2083g (OB0EPE0Es 2o f‘i@?’.a}orﬁ eﬁl@w@, H:;

QYD

Options :

0.2

0.4

~

T
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Correct Marks : 1 Wrong Marks : 0
Two metal wires A and B have length L and 3 L respectively. The radius of cross-
sectional circular area of wire A and B are R and 2R respectively. These wires are
joined end to end along their axis. When one end of the combined system 1s fixed and
other end 1s pulled with a constant force F, the elongation in both the wires 1s equal. If

Y and Yg are Youngs modulus of wire A and B, then Yp/Ya 1s

A 0050 B S8 €0 e SENP L S0008w 3 L, a7¢3 SYT°se0 Sdigud® JFog
aa“g?f*g“e_n SO R 00050 2R en. 9% el P D38 2088 ord o3P0 ok
e 00e0Gar0N.  Eeneostad 33,3:)‘_@6‘3@ 2o8 DIOD Do), NTE DG IS W 'F’

SHAFAD LRSI Botdd i D5 SO VSTSorP God. Ya 0050 Y e A SH0050
B ¢3¢0 0eh Sosseeone, Ye/Ya

Options :
3
4
.o
4
3
2%
2
3
3 %
3
2
4 ®
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A hydraulic lift as shown 1 the figure 1s used to lift a mass of 1000 Kg which 1s
placed on a piston (P;) of area 1m’. If the cross-section area of the piston (P;) at the

other end is 0.01m’, then. how much mass needs to be put on it to lift the 1000 kg?

800 DS WFDS Dl 1M’ FPUge SOAS &l S (P1) D &odenias 1000 Kg
BS50°80 P8 UHDOK &8 OS5 0D GVAFNeTR. HTE IS &Iy, (P2) Sudedo
GR0%p, 3B FFLgo 0.01m” OB, TPIP Dot G307 GoB, 1000 Kg 2082H
DBSY?

1000kg

%—R
P}'n'

Options :

1 Kg

10 Kg
2. ¢

50 Kg

100 Kg

4.33
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If @, and T are the coefficient of volume expansion and temperature for an ideal gas

respectively, then

w8 W80y TPONHIK @, 0050 T e SEDP DS HOSIE T8N (ogs%e 0K
&S Lond,

Options :

~

T
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a,=—
T

1.4
a. =T
s U
¥ ﬁ

3 B
1
a, =-r;

4.“
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If A denotes the wavelength at which the radiative enussion from a black body at a

temperature T 1s maximum, then

18 &3}@&"9 é@ Mo a8 55@ oSedey) ~obs aILRGN DSSE %Eg“éoﬁ:xj cﬁné& 5Go0$ @ng&u 5
OO

Options :
g - |
AT
1.v
Ax T
7 »

A 1s mdependent of T
Ay T S0l D3B0Baiddld
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A Camot engine Ci operates between temperature Zand 7, (7,>7,). A second

Carnot engine C uses all the heat rejected by the engine C; and operates between

temperature 7> and 73(where 7, >T7;). The efficiency of this combined (C; and C>

together) engine is

C1 O a8 SEY &Y Ohee I, 00 T, (>1) s g D0 Ied. Ci
QKOS GIPV) GHAIPN Rl Cr 58 & aloe T2 00w T3( T, >T)
GYEO0 3085 DOBWD. &8 Dolotdd (C1 SH00%0 C2) S0P a8 YES OetSn P50

Options :
¢ A3
1. ® Tl
15
}_T_,
7 ®
(,+7)
I
3. ¢
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All gases deviate from gas laws at

©Q), FPOINHLL TPO8N DOLSTL 36 SOFOW .

Options :

Low pressure and high temperature
VLY Ve OKW WO &IHS

1 #

~

T
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High pressure and low temperature

OOE Do D00 LY GIHS

3
Low pressure and low temperature
VLY Do DO0KL VLY &S

3 %
High pressure and high temperature
©OE ido 20O WOE &S

4 %
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A body 1s oscillating mm smple harmonic motion according to the equation

T . : .
= 6c05[ 27t + —1 meters. The magnitude of the acceleration (in m/s”) of the body

at =18

8 35009 DEF Lo 8 GOTo Wilo®. & S0af) AIVEY, DaLESEISD ¥ = 6c05[2;’rf +%

DO oD =15 S5 & SV AN, Bdero HOSTEe (M/s” OS")

Options :

127
1. 9
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A short straight object of length ¢ lies along the central axis of a spherical concave

mirror, at a distance X from the murror. The focal length of the miurror 1s F. If the
- - - - N ( d -
length of the image in the muror 1s £, then ratio L—] 1S

(Assume (<< X and (<< F)

B8 FO0D PSS C58EI0 CIVE, SB0%H GXSNP £ Jeiie DSy e 15 (straight)
S0P SONEFRS K SPONS Goealed. GyEe K Taigedde F. 8ymes

HSoSD I &P € BoWD, VXS [{?}
(£<<X 0050 << F 9588 )

/
[

S
“—> 74
¢ //
L~

Options :
F—X
F
1. &
&)
F
B
\F-X
B
F
X
4 8
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Consider a glass prism immersed in a liquid as shown below. The refractive index of
glass and hiqud 1s 1.5 and 1.2 respectively. A ray of light enters the prism
perpendicular to the face AB. The largest value of angle 6 1s, if the ray is totally
reflected at the face AC:

$o05 SPRDS DB TPE DEEID w8 GBS Goudeatasd. TP S000%0 Garw S
(e SO 1.5 SH0ckn 1.2, AB S0ardS ©o2eP af 03 So HEESNS QS
fgﬁ%{po&. AC S0me5w &’)@ S°0ed O E(Jo?’.p_j”(é D000 Ko, 0 o cﬁwé& r‘i&&r‘;.} e ?

Options :
Cos—1(0.8
o (0.8)
Sin—(0.8)
2w
Cos~1(0.6)
3%
Sin—1(0.4)
4 8

Question Number : 104 Question Id : 7196501384 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

If m a Young’s double slit experiment the slit separation 1s doubled and the distance
of the screen from the slits i1s reduced to half, then. the fringe widths become how

many times their original value.

e 22080 WO¥L PAIFKeS VOSL Dy Grde 0o ©WOWS, WO SO &6
3503 Grdo DMPAS SN, HEL Fien) TPE) DLV DS W) TEY SGIeRR?

Options :

~

T
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1. %
2
2 &
1
4
3. ¥
4
4 B

Question Number : 105 Question Id : 7196501385 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
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Correct Marks : 1 Wrong Marks : 0

In a uniformly charged sphere of total charge Q and radius R, the electric field E 1s
plotted as function of distance from the centre of the sphere. The graph which would

correspond to the above description will be :

30Bo eaido Q &5 VHOBP eF8ho I0WE R 750t (TS Agd Ego E K
% Folo $o6 EFSo HAOHP HESVES” AOLWGD. DS OGS SBEL HOFAL
Bar D0

Options :

E
>
r —
1. %
)
E
>
r —>

~

T
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3.
TA
E
>
r—

Question Number : 106 Question Id : 7196501386 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Electric charges +¢ and —¢q are placed at points A and B respectively which are at a
distance of 2L apart. If C 1s the mudpoint between A and B, then the work done in

moving a charge +0 along the semi-circle CRD i1s

2L &78oS @) A 00050 B @othiador 5¢ Diged @377en SE0P +g 005N —g e
GovdEOW. A 0k B 0% SHdg Dotined) ‘C’ o @8 Sye CRD Mot &d3do +0O
3 22805E5L €95508300d DV

.. ..........
A
Options :
qQ
2n e L
], ®
qQ
6r e, L
7
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qQ

67 -
3.¢
qQ
dreg, L
4. &

Question Number : 107 Question Id : 7196501387 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
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Correct Marks : 1 Wrong Marks : 0
Find the equivalent resistance between point A and B in the following circuit. (The

resistance of each resistor 1s R)

&8 $o0 SOONIVS'D A OO B 2ot 5065y ererrsel GBS 8% o8 (8%
DEDED), 6'WBS» R)

B
Options :
=4
55
1. ¢
q
i R
T'd
2. &
2R
5
3 %
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Question Number : 108 Question Id : 7196501388 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
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Correct Marks : 1 Wrong Marks : 0

In a meter bridge the balancing length from the left end 1s found to be 25 ecm. The
value of the unknown resistance 1s :

(Assume: Standard resistance of 1 Q 1s m the right gap)

28 A PGSRV Vo0 Fed) WD DG Dol S8 oI YL 25 em 0. BOCHN
VANWENSUNAEA L I
(506 90BES0 Gl VOR VG WD 1Q ©HE Jsw)

="

Options :

0.25 Q
i "

0.33Q
2. v

0.20Q
3 =%

0.50 Q2
4, %
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Two nfinite wires carrying opposite electrical currents I and 1 are placed a distance x

apart. A point P at a distance y away from the wire carrying current 1 is shown i the

figure. If the magnetic field is zero at point P then the magnitude of 11s

X - PGS’ GotSnGS Toty FEIS (infinite) SO agS Hadren I 0050 1 e
Se0E IS HSIPLITTY 0. 1 DS HFEPS0 EOO &) A y - ErdosS P’ otided)

&3) G0 DS LrRoPl. P &6 00wy o8 £ el 0T°) 0w, 1 D05 ko

IA ‘nr‘i

2. %
V
I r
X+y
3. ¢
2y
I( -
X+y
4. %

Question Number : 110 Question Id : 7196501390 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question

Mandatory : No Single Line Question Option : No Option Orientation : Vertical
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A solenoid of length 2 m carries a current of 20 Ampere. The diameter of the solenoid
1s 3cm. If the magnetic field mnside the solenoid is 20mT. then the length of wire

forming the solenoid 1s

Assume 1, = 47 x 107 H/m)
( 1,

2 m PEGS FPOT NG 20 &0d0N0 © gD VPSe SO0 Gold. FOT OWG TPge 3cm.
FOTONE SHO GI) WOF S B D 20mT e wod, FOTONE O°YEW
WOSAE &N B Fcéad)

(py = 4m x 107" H/m P S$08%8)

Options :

100 m

]Iw

125 m

[
*®

175 m

150 m
4 &

Question Number : 111 Question Id : 7196501391 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Which of the following 1s desirable for making permanent magnets?

T3S WOLF) 0T SOTFEIICINAR §obd TPES” SPSVASD

Options :
Low coercive field and low retentivity

D30y A EBSw 00K DLy Bedes Bos

Low coercive field and high retentivity

YWY AT EH50 SOk WO o0 30

zlw

~

T
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High coercive field and high retentivity

OO AT EHSD HOO WAE e B
3.

High coercive field and low retentivity

OO AL FHSD SO0 VLY T Fos

Question Number : 112 Question Id : 7196501392 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question

Mandatory : No Single Line Question Option : No Option Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0

Consider two solenoids X and Y such that the area and length of Y are twice that of
X respectively, of the magnetic energy stored in both the solenoids is same, then the
B,
ratio of magnitude of magnetic fields of the two solenoids ||E'fl| 1S
A
X 350050 Y POTP00ESD DOSES DS S50 Y B, i) SO0k Jartigo, X GRSy,
AFrCiad) 33°ePgR8 Botdd L &obnod. Gotdd FOT OGS IZ DS WONTF) 0 §8 Do

B,
0D, 77 WONFY 0 ETPV DOSTESNL AN H
A
Options :
1:4
1. ®
27 ]
2.V
Lz 2
3,
&0 ]
4 %
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Mandatory : No Single Line Question Option : No Option Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0

collegedunia:s

India’s largest Student Review Platform



Which one of the following curves represents the variation of impedance (Z) with

frequency f in a series LCR circuit when connected to an AC source?

AC 25508 LCR S005r0) s8H0080)%, F3)dse f S SrtryBel oS6ee0)
(Z) 5 866 Bar HEPOS' DB HPIKWA.

Options :

4

> f
]_W
Z
> f
2. v
Z
\/>f
}Wr
Z
;T\
/ > f
4 %
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Correct Marks : 1 Wrong Marks : 0

The radiation energy emitted per second of a point source 1s 100 W. If the efficiency
of the source 1s 4%, then the rms value of the electric field at distance of 2m 1s

1

4 e

[Use =9 «10”in S.I. Unit]

e

¥ 2otarwe (source) &l VENS" &wrdo Dod D8GE 5 Dewd 100 W. es dareo
A%y, PGge 4% oS, 2m © ErdesS Hgd FHo CINY (rms) G g

DPaPLo DD
1
[ =9 x10° S.I oAt P 308 6]
dr <, =
Options :

J60 V/m
&

l.

m V/m

JS_O V/m
=

3.

m V/m
e

4

Question Number : 115 Question Id : 7196501395 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
A light of wavelength 310 nm 1s used in a photoelectric experiment. The metal
electrode of work function of 2.5 eV is used in the experiment. The stopping potential

for the photoelectrons will be

(Assume he = 1240 eV —nm)

5% - Agd DA 310 NI €0 Boti Bg0 KO TSR GDAFNoTd. S8 HATPHeeS
DO Ddofo 2.5 eV fo Y DUFRDD GDAFHeT. Fod DUFIS O TGS
EIQONS

(he = 1240 eV-nm &5 &)

Options :

~

T
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1.
15V

- 2
20V

3 %
25 N

4 ®

Question Number : 116 Question Id : 7196501396 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

If the first line m the Lyman series has wavelength A, then the first line in Balmer

series has the wavelength

OS5 FHS' W BB BBt B0 A ©ONB, 237506 S WL B GG, SSols
Q0g0

Options :
2
B A
J
1. ¢
32 .
A
27
 ®
28 .,
i }n
21
3.8
13 .
4
4 %
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The half life of a radioactive isotope 1s 30 hours. How long will it take to get reduced

to 12.5% of 1ts 1mnifial amount?

28 OGOIr P08 DWW g ©f #IY sPuo 30 Heen. TP FPdeds DOJITEPAS

12.5% 50056208 0309 00050 DR T

Options :

120 hours

120 Hooe

90 hours
90 Moo

60 hours
60 HBodoe

50 hours

50 oo

Question Number : 118 Question Id : 7196501398 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question

Mandatory : No Single Line Question Option : No Option Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0

Which of the following circuits satisfies the logic condition A =1, B=1, D=1?

& 80 POS & Swoko B8 AONSe A =1, B=1, D=1 & Doyl HE0eB?

Options :

A

B C
| ®

~

_/
)
)

~

T
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Question Number : 119 Question Id : 7196501399 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

In an n-p-n transistor. 95 % of emitted electrons reach the collector. If the base

current 1s 2mA. then collector current 1s

28 n-p-n ErANOS, JVSES JUFIRen 95 % IO S IKetron. &Erdo
DD DaPTS0 2MA BONIE0WD, VESE DS VaPdro
Options :

19 mA

38 mA

0.5 mA
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48 mA

Question Number : 120 Question Id : 7196501400 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

; 5 50 3
A message signal of frequency — kHz and peak voltage of 5 V 1s used to modulate
T

a carrier of frequency 1 MHz and peak voltage 20 V. The modulation index 1s

5 - :
2 kHz 28550 5005 305 S'Te 5 V r O &Sy ¥ Doi¥ D635, 1 MHz

T

TSz HOOK0 20V 3wS ST FONS THER)  SrosOl  BoDgms
SHOIPAOSGD. STETRS HPDY

Options :

;_T

10
], =

0.4
2%

0.5
3 .

0.25
4.

Section Id :

Section Number :
Section type :
Mandatory or Optional :
Number of Questions :

Number of Questions to be attempted :

Section Marks :

Display Number Panel :

Group All Questions :

Mark As Answered Required? :
Sub-Section Number :
Sub-Section Id :

Question Shuffling Allowed :

Chemistry
71965027
3
Online
Mandatory
40
40
40
Yes
Yes
Yes
1
71965027
Yes

Question Number : 121 Question Id : 7196501401 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
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Mandatory : No Single Line Question Option : No Option Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0

Given the ratio of kinetic energy of electron in two orbitals 1s 16:9. Calculate the ratio of

wavelength of electron waves?

B WG Tolth) oSS’ JUFS (idesdl A0S 16:9 ©od & DUFIS Sborro Sdutiady
QRS ) owdole?

Options :

4:3

]
®

169

Question Number : 122 Question Id : 7196501402 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Which of the following results 1s not true about photoelectric effect?

S0 DE0S HOBo KoY &2 §ob IS’ B VBB E?

Options :

The electrons are ejected from the metal surface as soon as the beam of light

strikes to the surface.

ST @VOBPR), oD Y)ozio T8 FDTolIR LTI WOVER JendEePow.
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The number of electrons ejected is proportional to the intensity or brightness of

light.
SNEG UFTIOU oy o ¥ TE SERBH NS SPDISBS” Gotaob.

7 B
There 1s a time lag between the striking of light beam and the ejection of electrons
from the metal surface.
ST GIBBrR), o Yotso TEEEAS DO WDUFINL FVSETTAS g HT°
LaNONo &ollol.

3. ¢
For each metal, there i1s a characteristic mimimum frequency below which
photoelectric effect is not observed.
DS SRS 2uf QORI WDrERE 5AQ FS)ge Goblod. WeA¥edd BK0) S wowd
0 S VOG0 HeDDodSTW.

4%

Question Number : 123 Question Id : 7196501403 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
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Correct Marks : 1 Wrong Marks : 0

Transuranium elements are

EPRNOENTAN e SPUsw

Options :
Elements before uranium

OINBICDC SN0 &y, SFLSLR

Inter transition elements

2000050 adPLTTLR

[
¥

~

T
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Elements after uranium

QS0 BATS &y droseen
3. 9

Actinoid elements

@836 DFUL
4. %

Question Number : 124 Question Id : 7196501404 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Arrange the following ions in the correct order with respect to their 1onic radii.

WO FGPTL D560 §ob TS 1B o DE?
Options :

Br” >Cl >Na" >Be*

1. ¢
Be” >Na* >Cl” >Br
2. %
Cl” >Br~ >Na" > Be”™
;. 3 =
Na™ >Be” >Br >CI
4, ®

Question Number : 125 Question Id : 7196501405 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

What 1s the correct order of bond lengths in the following molecules?
&2 806 8806 BEHO VDS ol g0 ST WolierSo E50a0 o0& ?

(1) 0, @)y OF (i) O, (iv) O;
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Options :

(iii) > (iv) > (ii) > (i)

] o
(iii) > (iv) > (i) > (ii)
(1v) > (1) > (11) > (1)
(1v) > (1) > (1) > (1)
4

Question Number : 126 Question Id : 7196501406 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
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Correct Marks : 1 Wrong Marks : 0

Which one of the following compound is hypervalent?

&s §obd RS’ ©BVoIreE(FrHETSot) Dy Po B?

Options :

NO,™
] %

B,

PCls
3.9

CH,
4 %
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Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

collegedunia:s

India’s largest Student Review Platform




What 1s the ratio of kinetic energy of 7 grams of nitrogen and 4 grams of oxygen at

T(K)?

T(K) $& 7 pranw S¢8a 0005w 4 mrenw w8z draino (deds AQ)S oJod?

Options :

132
1. %

2:1
2. v

= el |
3. %

" ol |
4. %

Question Number : 128 Question Id : 7196501408 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Equal amount of gases are kept in two separate contamners. If densities of the two gases
are 1 1:2 ratio and therr temperatures are m 2:1 ratio, calculate the ratio of thewr

respective pressures.

Solld J80 F FGUS LIPS DOWTEIS TPANHOD Gowr. & Told) TANHL FolSL
S 1:2 00N aAfidw QYD 2:1 wowd, LEsrL AQYS S8 ook

Options :

1:1
1.

12
7 %

2:1
_}Iﬁ
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Question Number : 129 Question Id : 7196501409 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
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Correct Marks : 1 Wrong Marks : 0

Given the ratio of amounts of nitrogen and oxygen i a particular gaseous mixture 1s 4 :1.

Calculate the ratio of number of their molecules?

28 P05 00T Bdgakd SEEN SO0 e zm VOWTFY QNS 4 11 wowd waHu
RoAPY PR)SR TS owolks?

Options :

1124

Question Number : 130 Question Id : 7196501410 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Sulphuric acid reacts with sodium hydroxide as follows
H>S04 + 2NaOH — Na;S04 + 2H,0
What will be the amount of sodium sulphate formed. when 1 L of 0.2 M sulphuric acid 1s

allowed to react with 1 L of 0.2 M sodium hydroxide solution?

KJE..U‘Qg@E f.—.?:g_’)o, WEODo B’Eg&&dﬁ €2 5ol Qo W03 o)k,

H>SO4 + 2NaOH — Na>SO4 + 2H-0
1L02M "raws&ﬁg Eﬁ@c, 1L, 02M ¥F&lo ?;fuaﬁg‘bécﬁ'ﬁ WOy 20080, oS HeSIPEs0

(rsos’)s’ Faoke HE3E 808,

T
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Options :

45¢
|, %

142 ¢

142 ¢
3¢

142 ¢
4 %

Question Number : 131 Question Id : 7196501411 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question

Mandatory : No Single Line Question Option : No Option Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0

For the reactions.

2C1 (g) > CL(g)
COz(g)—WO(g)%O:(g)

what are the signs of AS, respectively?

2Cl (o°) — Cl, (o)

CO, (s~) -CO (D‘“)+%02 (=)

WOz AS i) Wl e SCOIrE
Options :

Positive and positive

&S SOOI B3

. =
Positive and negative
AINPNVTSTOVSUIARN

7R

~

T
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Negative and positive

AV ENVISToVINITAIN!

3.
Negative and negative
200088 20003 200088

4 )

Question Number : 132 Question Id : 7196501412 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Which of the following statement is correct?
808 EgSNLES HTIG DB?
Options :

A G is equal to AG when the system is at the standard state

$385% DETE PSS &I AG, AG™ & Do

1. ¢
AG  is zero when the system is at equilibrium
533550 VTP VA" &) W AG D00 oy
2 %
A G measures acfivation energy of a reaction
WOy gy e 450 AG Sewluod
1.8
When A G i1s positive, the reaction should proceed forward to form more product
AG S8 S0 ®ond, Wiy & B (TP Wiy 2500) w808 3o’ &3Sy 0
Dﬁg@@ﬁm&.
4 ®
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For a given reaction. 2A ——B+C. the equilibrium constant is 2x107. If at any given
time the composition of the reaction mixture is [A]=[B]=[C]=6x10"M: predict in

which direction the reaction will proceed and the correct value for reaction quotient.

2AT——B+C S0z DDV J0%o s 2x107. &l 0BS Lo S& Worg wFdo
gy, Dedododsn [A]=[B]=[C]=6x10"M o) & $03 &ttt SO Koy
ZP(I000 QIWE), VO DENWED B0 Yok,
Options :
Forward direction and 1.0

DHEPR &F 6050 1.0

1. ®
Backward direction and 1.0
SO TP &F Oakw 1.0

R4
Forward direction and 3x10~
P &S SHookw 3x107

.

Backward direction and 3x107
SFra ¥ SO0 3x107

4 B

Question Number : 134 Question Id : 7196501414 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

At atmospheric pressure and very low temperature, water crystallizes to

FEP B8 HisSo OO gL GBSO 36 S B E8EHo Dol

Options :

~

T
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Hexagonal form

0es° 2,850 8rdo
1. ®
Cubic form
2 Grdo
2.
Tetragonal form
a@;ﬁ&sﬁom Srdo
LA
Tetrahedral form
éa‘éo&&a‘f)c&) (0% 6T
4 ®

Question Number : 135 Question Id : 7196501415 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
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Correct Marks : 1 Wrong Marks : 0

Which of the following statement(s) are correct, when alkali metals burn in the presence

of oxygen?
I) Lithium forms monoxide
1) Sodium forms peroxide

IIT)  Potassium, rubidium and cestum forms superoxide

BOSTeD 6828 D0KoS" S0GS Y, &2 $o& ¥z VIR
I) OBON0 SPTTYEAWE

I)  PEo0o TGN

)  réracio, oadEaio SO RN IPNTEEYG SPOw

Options :

I and II only
I 0008w IT &Sorgo
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I1T only

. I Sordedo

I and IIT only

[ oociw T Soeg
3%

I II. and III

I, II, oocdw IIT
4.v

Question Number : 136 Question Id : 7196501416 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Pick the correct statement

4

(1) Borax is white crystalline solid containing [B;Oi (OH), ]__ units.

(1) Aqueous solution of borax is acidic i nature.

(111) Cobalt gives blue colour in borax bead test.

5008 PE3SNRD oviS b,
(i) 55’08y [B,0,(OH), | cswrdge® 50:5%) 80 Hy8ess o
(11) as‘oﬁéa T8, BOTPSE0 BV ETPSod 8O Gobaod

(iif) 2508y 375 HOLS' 558 DO GotfeS BB

Options :

(1) and (11)

(1) 3000w (11)
| %

(1) and (111)

(1) 0003w (111)
2. ¢

~

T
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(11) only

(i) Sorehd
3 B
(11) and (111)
(11) HOC3W (111)
4 ®

Question Number : 137 Question Id : 7196501417 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is (Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Which element does not show catenation property?

SOSRS (§omtho) BTmR) WP SPLtos &?

Options :

S1
], =

Ge
7 %

Sn
7 %

Pb
4.

Question Number : 138 Question Id : 7196501418 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
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Acid rain 1s mainly caused by the emissions of which of the following gases?
(1) Sulphur dioxide

(11) Carbon dioxide

(1)  Nitrogen dioxide

(1v)  Methane

805 B8206S o) POV TS0 S8 ) STP NoSRPOW?
(1)  Juyd Gesye

(i) >Oye Gese

(i) Iz SesG

(1v) @™

Options :

(1) and (11) only
(1) 00w (11) el

(1). (11) and (111) only
(1). (1) s0OC0 (111) ST

!:d
¥

(1) and (111) only
(1) 000k (111) LS

(1). (11), (111) and (1v)
(1). (i1). (ii1) <oOcSw (iv)

Question Number : 139 Question Id : 7196501419 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

During the course of estimating nitrogen using Kjeldahl’s method. the organic compound

1s heated with

BIPO VWST I B WoWT® G Fo’, FTNS Vi T GBS 36 Wydo.

Options :
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conc. HCI

r&. HCI
| %
dil. H,SO,
293, H,S0,
‘2” -~

conc. H,SO,

re. H,SO,

3.

conc. HI

PG. HI

Question Number : 140 Question Id : 7196501420 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

An organic compound, ‘A’ with molecular formula CgHsO on reaction with I, /KOH

gives salt of carboxylic acid ‘B’ and a halo-compound “C’. Compound ‘C” on the

reaction with silver powder gives ‘D’. The structures of *A” and ‘D’ are

CsHsO osmardnyer 303 ‘A’ o 5038 dddssw I,/KOH & ¢y =60 ‘B’ o
507805 wehodtio O ‘C @I TS I FISND gk, JFSSw ‘C7 g
Fees® W5l ‘D’ B Dy FSS0D gRuod. ‘A’ 00K D’ L AT DD?

Options :

OH

~

T
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O
a2 O)kcm : D2 BHEC=CH

%
O\V/CHz
A @/ : Dz HC={H;
1 %
O
CH
A O)'k ., D: cH,
4 ®

Question Number : 141 Question Id : 7196501421 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

The order of circled C—H bond dissociation energy in the following compound 1s

&2 808 Dk WS 3o w0&eatS C—H 2006 H0IPaS $500 E5080

Ethylene Methane Propene Propane
ST OB S BEIS

s el el

O |

/,C = C\ H— C@ H,C = CH—C@ H.C —C—LCl;

H H | | |

H H H
(1) (1) (111) (1v)

Options :

(11) > (1) > (1v) > (11)

(1v) > (11) > (1) > (1)

~

T
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(1) > @) >@v) > ()

3.
(1) > () > (1) > (1)

Question Number : 142 Question Id : 7196501422 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Intercepts of a plane 1 crystal 1s given by a. b/2. 3¢ in a simple cubic unit cell. The miller

mdices are

ESRATVEE (PSrSy o AL AO)E'R Serw ol ot devden a, b/2, 3¢ wond
SVSIORVINLGY

Options :

b
®

(361)
4.4

Question Number : 143 Question Id : 7196501423 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Relative lowering of vapor pressure of a dilute solution 1s 0.5. What 1s the mole fraction

of the non-volatile solute?

DS GPedEio GwE), PR 0P G Qe) @ 0.5. el yio wrado S35 2P0 odo ?
Options :

0.

rN

1.
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L
¥

-2

Question Number : 144 Question Id : 7196501424 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

The solubility product of a sparingly soluble AB; salt is 2.56x10™ M? at 25°C. The K¢ of

water is 1.8 K kg mol~". The depression in freezing point of a standard solution of AB> is

25°C £ oo ymrseioR o ABr Lo G, rSeioe vwo 2.56x10™ M>. 3¢ candy,
K oenss 1.8 K kg mol~. $aes AB, @pebeso Gins), Sndased oo Qaldy & odoth?

Options :

0432 K

0216 K

<

0.108 K
13.824 K

Question Number : 145 Question Id : 7196501425 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
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Mg”" displaces hydrogen from acids but copper does not. A galvanic cell prepared by

combining Cu/Cu*” and Mg/Mg~" has an EMF of 2.71 V at 298 K. If the potential of

copper electrode 1s 0.34V, what 1s the reduction potential of Mg electrode?

Mg™ @are ol FEBOD P Wodadd WO 0 N6 WO, 298 K edf(ies &
Cu/Cu*" 500050 Mg/Mg™ ' $9 SOird) doDets rogds Dot cindy EMF2.71 V.
w83 Cu JOS9G Gy FEICNS 0.34V vowd, Mg Jufye o) £oibe EICNS
oed?

Options :

+305V
.

-237V
2. ¢

s
} #

2V
4 %

Question Number : 146 Question Id : 7196501426 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

For a reversible reaction A 2 B, pre-exponential factor is same for both the forward and

backward reactions and has value of 20 S™. If the enthalpy change along the forward

reaction 1s —41.5 kJ/mol, the value of equilibrium constant at 500 K is

a8 Q309 WOg A = B, QTP <0000 SO ran WOz Sot Deliis QPO areePol (ogsd
20 20 ST e EON0KNS) D. SR B3R owrOy &0y —41.5 ki/mol, sand 500 K
S6 DSTPRSB JToESN DS doth?

Options :

10
1. ¢

~

T
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e
7R

R
3. e

e:‘r
4, %

Question Number : 147 Question Id : 7196501427 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Which of the followings is true for spontaneous adsorption?

{

DIW ol &3 Re PECNS SVI& DQ?

s L

Options :

AG>0 AS>0, AH<O0

1. ®
AG>0, AS>0,AH=>0
AG<0,AS<0,AH<0

3.9
AG<0.AS>0,AH<0

4. %

Question Number : 148 Question Id : 7196501428 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Which element does not exist in elemental state i the earth’s crust?

WPEE oS SPOERSES G0t Pt DB?

Options :
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1, #

S
:J“ -

Fe
R4

Au
4. %

Question Number : 149 Question Id : 7196501429 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Phosphine 1s prepared by the reaction of P4 with which of the following?

Py §o0 BOS* $855 0l FOYSD 5006?

Options :

H,S0,
], =

NaOH
2.

H,S

HNO,
4. %

Question Number : 150 Question Id : 7196501430 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

The most stable form of sulphur allotrope is

30 HEFS D6 ErIFotSo B?

Options :
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| %
S?‘
2. %
SB
3 &
Slﬂ
4 B

Question Number : 151 Question Id : 7196501431 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

When[ Ti(HEO)ﬁ]C 1, 1s heated at 250 °C, the change in color 1s from

250 °C %6 | Ti(H,0), |Cly & 36 B0, Sotoes” S5t

Options :
Violet to red
DS arho ol DD
1. *
Violet to blue
QeS80 Noks SN

Blue to green

Do ol Qﬁ}éxﬁb
3%

Violet to colourless

DS 8o ol égébe"aﬁw
4.
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Question Number : 152 Question Id : 7196501432 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Which compound 1s zero valent metal complex?

0%y, DodPase SO SFEF 208D D TIS DB?

Options :
[Cu(NH3)4]SO4
1 -
[Pt(NH:):Cl:]
IN1(CO)4]
3.¢¥
K;s[Fe(CN)g]
4. %

Question Number : 153 Question Id : 7196501433 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
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The structure given below is an example of

*EO?H—CH;—E—OH?Hﬁu()}
CH; O ?Hz O

CH;

I) A condensation and biodegradable polymer
IT) A biodegradable and thermoplastic polymer
IIT) A biodegradable and thermosetting polymer

IV) A polyester and thermoplastic polymer

&2 S0l BI20GS AT to BRS Gwrarde

*EO—?H—CH;—E—O—?H—?E—O}
CH; O (FH; O

CH;,

D 28 Dotds SH0050 252Dy FOE
D) a8 e8So0)S o0k B8 FONE
) 28 eSo0)S SO0k iyE FO5E
IV) 28 2OH6 0050 661 rp8 FO5E

Options :

I, IT and III

L IT 5506050 111
1. ®

[LITand IV

I IT 06ad IV
2. ¢

[T and IV

I, III oo0sn IV
3 ®
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II. III and IV
I1, 11T 5005w IV

Question Number : 154 Question Id : 7196501434 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question

Mandatory : No Single Line Question Option : No Option Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0

Which of the following statements support the cyclic form for glucose?
(1) It doesn’t give Schiff’s test

(1)  It1s found to exist mn two different crystalline forms

(1) It oxadizes with nitric acid to give saccharic acid

(iv)  Pentaacetate of glucose doesn’t react with hydroxylamine

(PS5 SOOD DTS & §obd o) TEZSNLN DSOFOW.
1) 29 HOED 55
(i) Dot HYEE Eraros’ &) & KB
(1) S35 wedoes” e5y¥0e0 Bl ¥5°05 Ladod) BVl
(iV) BPSE DotrIVEE, TEYS DS 8y 280HE

Options :

(1). (11) and (1v) only

(1). (11) S0asw (1v) Sl
1. ¥

(1). (111) and (1v) only
(1). (111) SOOCKW (iv) SS

b
¥

(11) and (111) only
(1) s500050 (1i1) &SoeSad

(i). (ii) and (iii) only
(i) (if) o005 (iii) Srehads

~

T
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Question Number : 155 Question Id : 7196501435 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question

Mandatory : No Single Line Question Option : No Option Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0

The structure of paracetamol 1s

PTPRESTO DT°Y 80
Options :
HNCOCH,;
CH,
OH
] ®
HNCOCH;
il OH
HNCOCH,
CH,;
OH
3. %
OCOCH;
NH,
4 &

Question Number : 156 Question Id : 7196501436 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question

Mandatory : No Single Line Question Option : No Option Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0
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Arrange the following in the correct order of reactivity towards nucleophilic substitution
reaction.

(1) 1-chloro-2-nitrobenzene

(11) Chlorobenzene

(111)  l-chloro-3-nitrobenzene

SPEBrHOE HSEDE ST $o& TEID 0B WTrgILS E300S’ @S0Gy
(i) 1-§6-2-3¢B0esS
(i) §E@DoesS
(i) 1- §6-3- 3¢PoesS
Options :

1>1> 111

11 >1> 11

[
¥

1> 111 > 11

11 > 111 > 1

Question Number : 157 Question Id : 7196501437 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
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Reactions that produce n-butanol in the following are

808 S N-20gS O BB VoK WOz DD?

(i) BoHs (i) CH;Mgl
(1) CH;CH,CH=CH, —— (1) CH;,CH,CHO ——
(ii) NaOH / H,0, (ii) H,0
(i) $nCl, . HCI B,H,
(iii) CH;CH,CH,CN > (iv) CH,CH,CH,CO,H >
o ®
(1) H;O
(iii) NaBH,
Options :
(i), (ii) and (iii)
(i), (ii) So60%w (iii)
| ®

(ii). (iii) and (iv)
(i), (iii) 605w (iv)

l_;d

(1). (11) and (1v)

(1), (11) 6L (1v)
3w

(1), (111) and (1v)

(1), (111) 6 (1v)

4.

Question Number : 158 Question Id : 7196501438 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0

What are X and Y in the following reaction sequence?

800 S0 SgS" X SH0akn Y e 2dD?

]

2 HO
O/ X HNO; + HsSO4
> > Y
273-283K

Options :
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X 4

CHO
)  CrO,.CL/CS;
11) H:O"

NO:
.o
¥, N
CHO
CrO; / H>SOq Q/
SOsH
7w
4 Y
COOH
CrO-Cl, / H;O™ O/
3, %
X Y
COOH
CrO; / H,SOq4
NO2
4 %

Question Number : 159 Question Id : 7196501439 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Predict A and B 1n the following reaction sequence

$o& S0 WguS” A OGN B 0 Sendpein.

KOH(we, 95)
Br, KOH (alc)
CH; - CH,; — CH, — CH, — COOH > A > B
Red Phosphorus
QB FPROYED

Options :
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!-‘J
&

A

B:

A

B:

4.9

Ilir
CH; - (CH;), — CH — COOH

Br
I — +
CH; - (CH;);, - CH-COO K

Br
CH; - CH,; - &‘H — CH, - COOH

— +
CH;-CH; -CH=CH-COO K

Br
I
CH; - CH, - CH, — CH - COOH

CHy—CH = CH-CH; -COOH

Ii;’.r
CH; - CH, - CH, — CH- COOH

— +
Cil;—CH; ~€H = CH-COD K

Question Number : 160 Question Id : 7196501440 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question

Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

The major product formed by the reaction of benzylamine with nitrous acid is

oBS QNS O Boes® WSg BEHT G DFS GB)S) 0 DB?

Options :
Phenol
DS
1. =
Benzaldehyde
23026“@35:’(5
2 &

~

T

collegedunia:s

India’s largest Student Review Platform



4.v

Chlorobenzene

g"é‘ﬁoaﬁs

Benzyl alcohol
2oBO sL) O
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